
Fri 3 Nov

• Hmwk 8 due today
• Agenda

. prove Ford - Fulkerson
- Start Ch 't Extremal Theory

• Two Weeks to Mid 2
.

Should we schedule the Fairbanks
Midterm on Thurs from 2:30 - 4:30 ?

• Monday before Thanksgiving will be a Zoom

lecture .



Them 6. 2.2 Ford - Fulkerson

Given N -
- CG

,
so ,

t
,
c) network

.

let f represent a

flow on N '

④
max Ifl = min { CCS ,5 ) }

f flow on SEV
N s a cutin N .

PI : . It is sufficient to construct f and find S

so that
If I = CCS

,

'S )
.

• Our construction implies f is integral .

• Start with fo CE ) : = 0
.

C integral , valid flow )
° Sppse we have flows fo

,
f
, ,

. .
.
,fk So that

I fit t I E If
it , )

- How to construct fu ,

? SV

a def : W -

- toe
. x. I. xz . . . xe , Ee, xe a g④§alk

if Xo -
- s

, xe -

- u and ht IsiEl - I def ) > HE )
Hi

,I .

= Cei , Xi , Xin )

d§
,

= { s } u { VEV : I a good s v walk }

Case I : te Sk ( Cour t Esk )
-

PI : F a good st path in N
.

P - fixe. x. I , .
. .

xe.ie?e.fe=tletE=e..mi,zEccei3-fCei
) } > o and an integer .

q T

Z H



fide ) t E if e- = Ei
←

fiance ) = { face ) - E If E = Ii

fide ) if e c- ECP )

&
fee) = - flee ) and

✓②
flu ,v7=o for we v -

gs.cz/fktil7lfk/t/

✓ ③ te fee '

⑥tT¥7i+,
Fkfans#Ice,

÷÷÷tq-
fleet

- E
- flee .) - E

¢ fktlF¥f¥xiti
Fte te f TE

fktfxisVJ-sunemdontffee.lt/e-fdei.7-efedss=0



Ots
'

- This incrementing process

must terminate b/c

capacities are finite
.

Sk

Case : tf Sky↳
N

Ifl = CCSK.SI) SI

• Sic is a at b/c stsk
,
t ESI

. A e- E E ( Sk
, 5k ) h

-_
2

CCE )=fCE )

e =xg ,
I -

- Ce
, Xis ) /

b/c

otherwise YES ,c .

✓



CHI Extremal Graph Theory
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